FM: HEHHS W

Ha: SHE HHUS S B (STEN LI/ - 2)
o9l HUTHS SRM = CEREE]
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
TH & CH S 2t 2,420,096 2,126,068 294,028
= {,209,586
EN 117,600
= 1,092,910
RHY WHUS 22 YSHITINLAI /ML - O 1,721,486 883,110 838,376
2 9))
2 1,209,586
A 60,000
= 451,900
WHOS sSHH = 1,721,486 883,110 838,376
2 1,209,586
A 60,000
= 451,900
T RVIWHUS S (D) 65,000 65,000 0
2 32,500
= 32,500
201 Lur2 HH| 57,000 57,000 0
2 28,500
= 28,500
01 AL 22l bl 57,000 57,000 0
OMHHS SFB2EY N 57,000
2 28,500
= 28,500
202 01t 8,000 8,000 0
2 4,000
= 4,000
NIENEE 8,000 8,000 0
OMHHS AFE2EY Y 8,000
2 4,000
= 4,000
N2 2HHHUS S2Ed N (2D) 52,110 52,110 0
2 52,110
308 XX SHH S0l 52,110 52,110 0
2 52,110
01 HASHBLRBED 52,110 52,110 0
ONZ HHHS AFHst=Eet K& 52,110
2 52,110
S=0| FFAL HX(2D) 69,976 75,800 ~5,824
2 69,976
403 XHXISHHI S THE 0l ® 69,976 75,800 ~5,824
2 69,976
01 XX SHAI 2 2 69,976 75,800 ~5,824
0250 GHHAIL S N 69,976
2 69,976
ANSH A8 R 2 W 75,300 97,300 A22,000
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e CH S

HH: R WHHS A YSHSTIMLOT /TS - 2es)
oSl LS SN = EER-E
. 4
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
e 60,000
= 15,300
202 (4l 15,300 15,300 0
01 2L A bl 15,300 15,300 0
OANSEY g2 =& 15,300
403 XX SHHS K201 ™ 60,000 82,000 A 22,000
A 60,000
01 AIXSHAEE X 60,000 82,000 A 22,000
OANSEY ANz orddEd L XC 60,000
A 60,000
SHAEH SSEYH 2 15,100 30, 100 A 15,000
201 et A H| 11,300 11,300 0
01 AP 22l bl 8,300 11,300 A 3,000
OMUHNUMER 29 L WHELR 9 3,000
OXNAML VSHEZ M L B2H 5,300
02 22244l 3,000 0 3,000
OYME 3 A3l 3,000
202 (4] 2,000 0 2,000
01 =W A bl 2,000 0 2,000
OXNAML HSHEZ M L EH 2,000
301 et &2 1,800 1,800 0
09 HALABI X &= 1,800 1,800 0
OXSEIHHAS T A & N &M 1,800
2019 DA - =X A2 2 RAZ HRAS(22A 135,000 0 135,000
o =232H|)
201 LEF2HH| 135,000 0 135,000
01 AP 22l Hl 135,000 0 135,000
O'199 DA - Ex4atE A2 ERAS 135,000
2Z2ANAE SM=AE (=) 559,000 540, 150 18,850
= 430,000
= 129,000
403 XX SHHS K201 559,000 540, 150 18,850
= 430,000
= 129,000
01 RAIXSHIEExE 559,000 540, 150 18,850
OZ22Z2ANE SMA=TAY 559,000
= 430,000
= 129,000
SXNFINE Y BAEY Az 2 A|AE 2= AL 750,000 0 750,000
o (=)
= 625,000
== 125,000
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FM: HEHHS W

Ha: SHE HHUS S B (STEN LI/ - 2)
o9l HUTHS SRM = CEREE]
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
403 XA S X0 H 750,000 0 750,000
2 625,000
= 125,000
01 RtXISHH A2 8 X 750,000 0 750,000
OSXFEXNY MY 498 Az LY ALY 750,000
2 625,000
= 125,000
HQHE ALK MES 2 (STEAMLOE /T2y 651,252 1,197,943 546,691
oIl
A 57,600
= 593,652
et oF DUEY 23 651,252 1,197,943 546,691
A 57,600
= 593,652
Hetatagr A0 HAH += 126,716 142,443 A15,727
201 et Y| 126,716 142,443 A15,727
01 At 22l bl 4,000 5,050 A1,050
OMLAE LI SERNI 4,000
02 222l 122,716 137,393 A14,677
O A E AEIH SERN 122,716
SE02 WUOE CCTV 25 60,000 108,000 48,000
403 RXI SRS K= 01 & 60,000 108,000 48,000
R EEEETES 60,000 108,000 48,000
OSE0tS HUA CCTV 7% K& 60,000
et - HEHFH RS 2UEHS 25 CCTV 725 84,000 0 84,000
403 XX S S K= 0| 84,000 0 84,000
IR R ETES 84,000 0 84,000
O - HAHH AN SUEE 28t CCV 7S 84,000
HLHor® Di2ws DI =0 A 192,936 139,500 53,436
403 XM S K20 ™ 192,936 139,500 53,436
01 XXX 22 = 192,936 139,500 53,436
OTLIOIE DISYs JIEA SO A 192,936
W ats SUEEY EE HAFH 7Y 130,000 0 130,000
405 TH&HE St 130,000 0 130,000
IR EEEEE 130,000 0 130,000
OMUAE DLIHY HEE W FH 7Y 130,000
WS ALY S A 57,600 0 57,600
A 57,600
403 XIS H S T2 0 ™ 57,600 0 57,600
A 57,600
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